Homework: Investigation 5B	Name:
	
[bookmark: _GoBack]Criteria for Success
	CP
	Honor

	· C: 1 correct answer for each lesson
· B: 2 correct answer for each lesson
· A: 3 correct answer for each lesson
	· C: 3 or some correct answer for each lesson
· B: 4 or many correct answer for each lesson
· A: 5 or all correct answer for each lesson


**”Take It Further” problems count as two problems.
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7. The square at the right is inscribed in a
circle. The square’s apothem is 2 cm.
Whatis the total area of the shaded
region?

8. Standardized Test Prep For Zach's
birthday, his grandmother makes an extra
large cheesecake. She usually uses a pan
that has a 7-inch diameter. This time she
uses a pan with a 14-inch diameter. She
usually serves wedges that are 1 of the
cake. Thistime Zach asks for a wedge with
an angle twice the usual size. How many
times greater than normal is the area of Zachis birthday serving?

A.2times B. 4 times C. 6 times D. 8 times




image4.png
9. Take It Further In this lesson, 7 is defined as the area of the unit circle.
Inanote, another definition given is 7 = . Other definitions of 7 could
be as follows.

arm=

b=

2r

€. 7 is the number you can approximate better and better by calculating
the ratio £ for regular polygons with perimeter Pand apothem a that
have more and more sides.

d. 7 is half the circumference of the unit circle.
e. « is the circumference of the circle with a unit diameter.

Choose at least two of these definitions of 7 and prove that they are
equivalent to one of the two definitions given in this lesson.




image5.png
5. The table gives one piece of information about four different circles. Copy
the table and find the missing parts for each circle.
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6. A canister contains three tennis balls each with a diameter of 2.5 in.
Which distance do you thinkis greater, the height of the canister or
the circumference of the canister? Guess the answer and then do the
calculations to see if your guess is correct.

7. Good'n Yummy Spaghetti Company makes canned spaghetti. The cans
measure 5 in. high and 3 in. in diameter. What size piece of paper does the
company need to make a label for the outside of its can?

8. Standardized Test Prep The rotating globe Eartha in Yarmouth, Maine, is
12.535 meters in diameter. Imagine there is a satellite orbiting one meter
above Eartha’s equator. How much longer than Eartha’s circumference
would the path of this satellite be?

A. 1 meter B. 3.142 meters
C. 6.283 meters D. 12.535 meters
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9. Take It Further A speedometer company makes electronic speedometers
for bicycles. The device consists of a small magnet on a spoke and a sensor
on the fork of the same wheel. The magnet sends a signal every time the
wheel makes one revolution. When you install one on your bike, you need
to know how far the wheel travels in one revolution. The instructions say
to use the rollout method: Put a chalk mark on the tire where it touches the
ground (and mark the ground, too). Then roll the bike until the mark comes
back to the ground and measure the distance between the chalk marks.
What is an easier way to find the distance for one revolution? Try both
methods with a bike.
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7. Whatis the radian measure of a central angle that is a straight angle?
Whatis the degree measure?

8. Determine the measure of the central angle, in radians and degrees, for

each portion of a circle.

1 ofacircle b. L ofacircle

< §ofacircle § ofacircle

L ofach
& of acircle

9. Acircle has a circumference of 360 centimeters. Find the length of an arc
with the given central angle measure.

a. 120° b. 72° € 40° d. 90° e 1°

10. Acircle has a radius of 1 centimeter. Find the length of an arc whose central
angle is:
a. 120° b. 720 © 40° d.90° e 1
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1. Matt, Liz, and Benny were asked to find the measure of central angle Pgiven
the information at the right. Who is right? Explain.
Mayt: 1 diyide the radius by the arc length. The angle in radians
s, or g 2
Liz:1 divide the arc length by the radius. The angle in radians is
2, which equals 3.
Benny:You're both wrong, The whole circumference is 147
because the radius is 7. Then the angle is the solution to the
proportion 55 = 57, which is x ~ 172,

12. Given that major arc AB has length 24, and central angle AOB measures.
120°, find the length of minor arc AB.

2
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4. Find the area of each shaded region.

5. An equilateral triangle with sides of length 6.9 cm is inscribed in a circle.
a. Find the length of the apothem and draw a sketch.
b. Find the area of the circle.

<. Shade the part of the circle that is outside the triangle. Find that area.
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6. Suppose the side length of each square is 6 cm. Find the area of each
shaded region and each white region.

/

<. Compare your answers for parts (a) and (b) above. What do you notice?
Explain.





